;f’r'zﬁﬁ lkoolearn .
AR FITEL SAT SCEETRYE (BB R (LTE)

WA TTEL
SAT SUEETEHE
(EAliBEF 58 (L)

EVEID: BREM

EISE RIS —FEREMME: tt19222222
XEMELRS [FAEFRIE] RFEEFQQEF: 928825017



WY | s SAT SUESTRYE (RRNSERIRMHD)
H K
N BRI A A . o 5
o SAT R A 5
L SAT R A B o 5
2. SAT B A B L o 5
3USAT AR A HAR ot 5
4. Raw Score Jr B g 5
B SAT B B A0S L 6
TSAT STVEBRTIANZH oo 6
L B R S 6
2 I T G R B . 6
B R . 7
O 7
B B e 7
6. SAT BT TR — & LXMDY B MRESHI @R .o 7
B0 SeNTeNCEe STIUCTULE .\ vt ettt et ettt ettt e ettt e e ee e e e 12
Lol A R I AR T 12
L2 T o 12
1.3 Sentence fragments . ... e e 12
L3 L T e 12
L3 2 AR IEI oo 12
S TR I 12
L 3 A R 13
L4 RUNTON. ¢ttt e e e e e e e e e e e 13
O =5 13
LA 2B AT TR oo 13
L4 3 AT ITRIIAT ST A0 . 13
- R O R 13
1.5 Subordination and coordination.................ioiiiiiininn 15
1.5.1 A coordinate clause....... ...ttt 15
1.5.2 A subordinate clause........ ...t e 15
1.6 Parallel structure. ....... ...ttt et et e 17
O e 17
LB, 2 AT 17
I 18
1.7 Modifier placement . ... .. e e e e 19
L7.1 adj. & adv. oo e 19
O 0 19
1.7.3 Dangling modifiers . ... e e e e 19
1.7.4 Misplaced modifiersS . ... e e e 21
L T D R 22
1.8 Verb tense, mood, and vVOICEe . ... ...ttt 23
1.8.1 Shifts in tense. . ..ot e e e e et 23

EISE RIS —FEREMME: tt19222222
XEMELRS [FAEFRIE] RFEEFQQEF: 928825017



ﬂ‘le’r'zﬁﬁ lkoolearn .
RARFITE e SAT EET2YE (ERLEERR(LPE)

L8 2 R 23

1.8.3 Shifts in mood. .. ....ouin it e e e e e 23

LB R 23

1.8.5 Shifts 1N VOICE ..ttt e e e et e et et et 24

1.8.6 Shifts In qUOTATION . . .ttt e e et e ettt et ettt 24

1.8.7 Shifts In qQUESTION . . vttt e e et ettt ettt ettt 24

1.9 Pronoun person and number . ......... i 25
1.9.1 Pronoun Person. ........c. oottt e e 25

1.9, 2 NUMDET . .ottt e e e e e 25

BB BT Conventions OF USBZe . .ottt e e e e e e 26
2.1 Pronoun clarity. ... e 26

N R 11 26

2. L 2 R 26

2. L 3 R I I 26
R 5 26

2.2 Possessive determiners. ... ...ttt e e 27
2.2.1 POSSESSIVE PIrONMOUN . « v vttt ettt ettt e ettt e ettt e e e 27

2. 2. 2 APOSETOPNE . ot e 27

2. 2.3 confusion of possessive case and subject—verb structure............ 27
5 O 27

D T X o <Y< 111 o 1 AP 27

2. 3.1 PRONOUN-ANTECEDENT AGREEMENT. .. .. ..o 27

2. 3.2 SUBJECT-VERB AGREEMENT . . . ..ot e e e e e 27

2.3.3 NoUNn agreement. ..ottt ettt e e e e e 30

2.4 Frequently confused WordS.........uuiiiiiii i e 30

2.5 Logical COMPariSOmn. ...ttt e e e e e e e 32

2.6 Conventional eXpresSSion. . ......iin it e e e 33

FE =/ Conventions of Punctuation...............uuiiiuriiiinnnneeeeeeeennnnnnns 35
AGoma N . .. L. A Y L . . e 35

3 L LB G T 35

3 L 2 B S I . o 35

3.2 Codon. . e 35

3.3 SemMiCOlON. ¢ ottt 35

TR ) T 1 o 36

3. D APOSTTODRE . e 36
U4 Standard English Convention ZEEZE] oottt 38
FEHERIT DeVELOPMENT « o o v v et et et e e e e e e 49
5. 1 ProposSition. ... 49

D, SUPDOT L. ot 50

0. 3 FOCUS . ottt e 50

0.4 QUAN T LA IVE .ttt e 51

BB NERAT OTGANTIZaTI0N. « « v et et et et e e e e e e 55
6.1 Logical SeQUENCE . . vttt et e e 55

6.2 Introduction, conclusion, transSitions ............uiiiiiiiiennenin 58

3

EISE RIS —FEREMME: tt19222222
XEMELRS [FAEFRIE] RFEEFQQEF: 928825017



ﬂ‘le’r'zﬁﬁ lkoolearn .
RARFITE e SAT EET2YE (ERLEERR(LPE)

6.2.1 Introduction. ... .. ... e 59

6.2.2 ConCluSION. « vttt e e e e 59

6.2.3 Transition. ... ..ttt e e 59
F-HHER Effective Language Use ...ttt e e e e e e 61
Tl PreCTSTON. ¢ttt e e e 61

L/ 0} s Vo =3 ) o P 61

T.3 Style and tone. ...ttt e e 61

QO 4 0N < - 62
F\ERAY BRI\ IR . 63

EISE RIS —FEREMME: tt19222222
XEMELRS [FAEFRIE] RFEEFQQEF: 928825017



;ﬁffm lkoolearn .
HIRFIATES SAT SUE2TRYE (BATFaRILEE)

SIA FERBERERNEA

— SAT ZIREMAIF LT A
1. SAT ZHERER

Component Time Allotted (min.) Number of Questions/ Tasks

Reading 65 52

Writing and Language

Math

Essay (optional)

Total

2.S5AT HEXDEIHHE

1) 1 COMPOSITE SCORE:
2) 2 AREA SCORES:

3) 3TEST SCORES:

4) 2 CROSS-TEST SCORES:
5) 7 SUBSCORES:

3.SAT Hi{h 7 BFR
1300 - 1350:

1400 — 1450:

1500+:

4.Raw Score ¥ R 3=

Raw & Ariting & Raw i Writi
Score St‘n:-t}gn _Reading \iallngngabld Score SECTitgn Reading Test wli; ;Igjlug;agld
i Score est Score Test Score P Score Score Test Score
0 200 10 10 30 530 23 20
1 200 10 10 N 540 28 a0
2 210 o 10 2 550 29 3o
3 30 1 10 3 560 29 k1l
4 240 12 n M 560 30 a2
5 260 13 12 35 570 30 32
B ZB0 14 13 36 580 3 33
7 200 15 13 37 500 3 34
8 3 15 i 38 600 3z 34
] 30 16 15 k] 600 32 35
o 330 17 16 40 610 33 36
n 40 17 16 4 620 33 7
12 360 18 17 42 630 3 3B
13 o 19 18 43 640 E 30
" B0 12 19 a4 B50 35 40
15 300 20 19 a5 660 35
16 410 20 20 46 670 a7
17 420 n k| a7 670 kr)
18 430 n 21 48 BBO 33
19 440 22 22 a9 690 33
20 450 22 3 50 T00 33
| 460 23 3 51 710 A0
il 470 23 24 52 730 40
23 480 24 25 53 740
24 480 24 25 54 750
25 480 25 26 55 760
26 500 25 26 56 780
27 510 26 7 57 700
8 520 26 8 58 800
29 520 27 28

EISE RIS —FEREMME: tt19222222
XEMELRS [FAEFRIE] RFEEFQQEF: 928825017



lkoolearn

B RARTITEL SAT XUEETRIE (BRLZEMSRLIE)

5.5AT &%£5%EH
1) SAT EJifEm
2) SAT BER%Z 4> - al3F= Pk  https://www.khanacademy.org/
3) SAT Bt

Z. SAT XCEBIN M43
L CEEREANES

Writing and Language Test

35 MINUTES, 44 QUESTIONS

Turn to Section 2 of your sheetto the ions in this section.

[ DIRECTIONS

Each passage below is accompanied by a number of questions. For some questions, you
will consider how the passage might be revised to improve the expression of ideas. For
other questions, you will consider how the passage might be edited to correct errors in
sentence structure, usage, or punctuation. A passage or a question may be accompanied by
one or more graphics (such as a table or graph) that you will consider as you make revising
and editing decisions.

Some questions will direct you to an underlined portion of a passage. Other questions will
direct you to a location in a passage or ask you to think about the passage as a whole.

After reading each passage, choose the answer to each question that most effectively
improves the quality of writing in the passage or that makes the passage conform to the
conventions of standard written English. Many questions include a “NO CHANGE" option.
Choose that option if you think the best choice is to leave the relevant portion of the
passage as it is.

Questions 1-11 are based on the following passage. [ 1 |
A) NO CHANGE
A Necessary Resource for Science B) 227. Which isone
In the winter of 1968, scientists David Schindler and C) 227.0ne
Gregg Brunskill poured nitrates and phosphates into D), ome
Lake W 227, this is one of the 58 freshwater bodies that
compose Canada’s remotely located Experimental Lakes
A) NO CHANGE
Area. Schindler and Brunskill were contaminating the B) destructive, and irresponsible this method
water not out of malice but in the name of research. C) destructive and, irresponsible, this method
While deliberately adding chemical compounds to a lake D) destructive and irresponsible this method,

may seem [} destructive and irresponsible, this method

of experimenting is sometimes the most effective way to

influence policy and save the environment from even

more damaging pollution.

Unauthorized copying or reuse of any part of this page is illegal. 22 m

2. HES5RE

Writing and Language Number
Time Allotted 35mins 8mins each
Passage Word Count 1700 words
4 passages
Total Questions 44 questions
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Passage Contents
Careers 1passage 11questions
1passage 11questions
1passage 11questions
1passage 11questions
4. 3K
Text Types
Argument 1-2passages
1-2passages
1passage
Text and Graphical Complexity
Text Complexity
Graphical Data

5. &8

1) Expression of Ideas:
-Development
-Organization
-Effective language use

2) Standard English Convention:
-Sentence structure
-Conventions of usage
-Conventions of punctuation
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Writing and Language Test
35 MINUTES, 44 QUESTIONS

Turn to Section 2 of your answer sheet to answer the questions in this section.

Each passage below is accompanied by a number of questions. For some questions, you

will consider how the passage might be revised to improve the expression of ideas. For
other questions, you will consider how the passage might be edited to correct arrorsin
sentence structure, Usage, of pUnctuation. A passage of a question may be accompanied by
ona or more graphics (such as a table or graph) that you will consider as you make revising
and editing decisions.

Some questions will direct you to an underlined portion of a passage. Other questions will
direct you to a location in a passage or ask you to think about the passage as a whole.

After reading each passage, choose the answer to each guestion that most effectively
improves the guality of writing in tha passage or that makes the passage conform to the
conventions of standard written English. Many questions include a "NMO CHANGE" option.
Choose that option if you think the best choice is to leave the relevant portion of the
passage asitis.

Questions 1-11 are basad on the following passage.

‘Whey to Go

Greek yogurt—a strained form of cultured
yogurt—has grown enormously in popularity in the
United States since it was first introduced in the country
in the late 1980s.

From 2011 to 2012 alone, sales of Greek yogurt in the
US increased by 50 percent. The resulting increase in
Greek yogurt production has forced those involved in the
business to address the detrimental effects that the
yogurt-making process may be having on the

environment. Fortunately, farmers and others in the
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Greek yogurt business have found many methods of N 1 |
controlling and eliminating most environmental threats. A) NO CHANGE
B) defeat

Given these solutions as well as the many health benefits
C) outperform

of the food, the advantages of Greek yogurt [JJJ outdo the D) outweigh

potential drawbacks of its production. :
[1] The main environmental problem caused by the
production of Greek yogurt is the creation of acid whey Which choice provides the most relevant detail?
: A) NO CHANGE

B) supplement and convert it into gas to use as fuel
in electricity production.

as a by-product. [2] Because it requires up to four times
maore milk to make than conventional yogurt does, Greek

yogurt produces larger amounts of acid whey, which is C) supplement, while sweet whey is more desirable

food additive for h .
difficult to dispose of. [3] To address the problem of e fooda “_c o IJ.I-'l]II]'lS i
D) supplement, which provides an important

disposal, farmers have found a number of uses for acid element of their diet.
whey. [4] They can add it to livestock feed as a protein

ﬂ supplement, and people can make their own
i A

NO CHANGE
Greek-style yogurt at home by straining repular yogurt.

B) can pollute waterway's,

[5] If it is improperly introduced into the environment, €) could have polluted waterways,
acid-whey runcuff can pollute waterways, depleting D) has polluted waterway’s,

the oxygen content of streams and rivers as it

decomposes. [6] Yogurt manufacturers, food
B scientists; and government officials are also : A} NOCHANGE

: B) scientists: and
working together to develop additional solutions for C) scientists. and

reusing whey. 1) scientists, and.

To make this paragraph most logical, sentence 5
should be placed

A) where it is now.
B) after sentence 1.
C) after sentence 2.
D) after sentence 3.
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A Though these conservation methods can be

costly and time-consuming, they are well worth the The writer is considering deleting the underlined
o ] . : sentence. Should the writer do this?

effort. Nutritionists consider Greek yogurt to be a healthy

- A) Yes, because it does not provide a transition

food: it is an excellent source of calcium and protein, from the previous paragraph.

serves [Jg to be a digestive aid, and i it contains few B) Yes, because it fails to support the main
- - argument of the passage as introduced in the

calories in its unsweetened low- and non-fat forms. first paragraph.

C) No, because it continues the explanation of how

Greek yogurt is slightly lower in sugar and carbohydrates acid whey can be disposed of safely.

than conventional yogurt is. JEJJ] Also, because it is more D) No, because it sels up the argument in the

concentrated, Greek yogurt contains slightly more paragraph for the benefits of Greek yogurt.

protein per serving, thereby helping people stay

A) NO CHANGE
B) as
C) like
D) for

A) NO CHANGE
B} containing
€} contains

D

will contain

A) NO CHANGE
B) Inother words,
C) Therefore,

D

For instance,

ISR RIS —FEEMME: 119222222
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[T satiated for longer periods of time. These health N 10

benefits have prompted Greek yogurt's recent surge in A) NO CHANGE
: B) fulfilled
C) complacent

popularity. In fact, Greek yogurt can be found in an

increasing number of products such as snack food and

D) sufficient
frozen desserts. Because consumers reap the nutritional
benefits of Greek yogurt and support those who make
and sell [} it. therefore farmers and businesses should A) NOCHANGE

continue finding safe and effective methods of producing B) it, farmers

C) it, so farmers

the food. I} it: farmers

" RBHBAIL EiEEE BRI
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Standard English Convention
&E—¥E4> Sentence Structure
11 AFRAREARRA
1 FIBEHBIE
2) FEHBIE+REIE

3)

4

5)

12 AFHRS
S
- EE

Sentence Boundaries
1.3 Sentence fragments
1.4 Run-on

1.3 Sentence fragments
131 EX:

1.3.2 IRFIFRIR KB FHER:

1) Dr. Jack having disproved a widely accepted theory of physics.

2) Our flight missed.

3) Several of the forest fires that occurred last summer which were because people are careless.

4) Harper Lee’s first novel, which was published in 1960 by J.B. Lippincott, and translated into
editions in over forty languages.

5) When experts say that for some people improper diet and lack of exercise contribute to the onset
of the disease.

1.3.34>]:
» Because philosophy teaching students not what to think but how to think, the age-old
discipline offers consistently useful tools for academic and professional achievement.
*+ A)NO CHANGE
* B)teaches
+ C)toteach
* D) and teaching

»  The watercolors it has on display by the museum represent the era when Japan’s emergence

12
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from feudalism and isolation inspired its artists to explore new themes and techniques.
A) NO CHANGE

B) that it, the museum, is displaying represents the era of

C) on display at the museum represent the era when

D) displayed at the museum representing the era when

1.3.4 $HIRSEHY:

1)

2)

3)

4)

1.4 Run-on

141 ENX:

142 EEAMDMEATFHS:

143 A HIMTENA. EEiA. iA:
1) &ha:

a.

o oo

144 23]

The company maintains computer systems for small businesses, plus it will manage their
payroll accounts.

A) NO CHANGE

B) businesses, in addition it will manage

C) businesses and manages

D) businesses, and, additionally, they also manage

A recent report indicates that sleep-deprived drivers caused more than 100,000 accidents last
13
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year, they fall asleep at the wheel.
+ A) NOCHANGE
* B) year, and they fall
*+ C) yearby falling
+ D) yearand falling
» Joan feeling tired and frustrated, and she was able to finish her painting before the light faded.
+ A) NOCHANGE
» B) Joan felt tired and frustrated,
*+ C) Although Joan felt tired and frustrated,
» D) Despite Joan felt tired and frustrated,

* An article suggests that The Great Gatsby was not read during the 1930’s, the reason was
that the novel described a lifestyle made extinct and frivolous by the current Great
Depression.

« A) NOCHANGE

« B) 1930’s, it is describing a lifestyle that was made an extinct and frivolous one

* () 1930’s; describing a lifestyle made extinct and frivolous
« D) 1930’s because the novel described a lifestyle made extinct and frivolous

* Siqueiros was asked to celebrate tropical America in his work, he accordingly titled it

“América Tropical.”
« A)NO CHANGE
*  B) which he accordingly titled
» C)accordingly he titled it
* D) it was titled accordingly

» According to Box, a leading Greenland expert, tundra fires in 2012 from as far away as
North America produced great amounts of soot, some of it drifted over Greenland in giant
plumes of smoke and then 18 fell as particles onto the ice sheet.

+ A)NO CHANGE

* B)soot

* C)of which

» D) DELETE the underlined portion.

*  We generally think of Canada as the northern neighbor of the United States, and more than
half of the states extend farther north than Canada’s southernmost point.

+ A) NOCHANGE

» B) States, and it is the case that more than half of the states extend

+ C) States, but more than half of the states extending

+ D) States; however, more than half of the states extend

»  Alice Guy Blache, an early filmmaker, introduced close-ups and double exposures, also she
set cars on fire, used rats in special effects sequences, and ran film backward.
+ A) NOCHANGE

14

EISE RIS —FEREMME: tt19222222
XEMELRS [FAEFRIE] RFEEFQQEF: 928825017



;fffmﬁ lkoolearn
AR

SATSUE RN (BRiZEMsa (L)

* B) exposures, and also she sets
*+ C) exposures, she set
* D) exposures; she also set

* Born of Ibuza, novelist Buchi Emecheta moved to England in 1962, since which she has

lived in North London.
+ A) NOCHANGE
* B) 1962 and has lived since then in North London
« C) 1962, since then she has lived in North London
+ D) 1962 and lived since then in North London

HRAE: BmAE

1.5 Subordination and coordination
1.5.1 A coordinate clause
EX:

EERS

1.5.2 A subordinate clause
EX:

533!

Adj. Clause Sentence EIEMA]
Noun. Clause Sentence %3714 M Al
Adv. Clause Sentence [RiEM A

Adj.Clause Sentence (BiEMA)):
1) £
s SEITIR+ XKENKE+

o SITIA+ KRENE +

2) 3K
« ERERERIAE:

© KAREN:

3) Rk

4) #3]):

»  Every year my high school hosts international exchange students, those teenagers join our

senior class.
*+ A)NO CHANGE

»  B) students, he or she is invited to

* C) students who
» D) students they

*  The wait did not dampen enthusiasm among scholars. Scholars consider the work a signal

15

EISE RIS —FEREMME: tt19222222
XEMELRS [FAEFRIE] RFEEFQQEF: 928825017



;f’r'zﬁﬁ lkoolearn .
AR FITEL SAT SCEETRYE (BB R (LTE)

achievement in linguistics.
+ A)NO CHANGE
» B) scholars, and these scholars
* C) scholars, but scholars
» D) scholars, who

* Thearticle goes on to suggest that the most valuable resources provided by coworking spaces
are actually the people whom use them.

+ A)NO CHANGE

* B) whom uses

* C) who uses

* D) who use

*  Wolves are now classified as an endangered species in all the lower forty-eight states except
Minnesota, after which the animals began migrating from Canada in the 1960s.

+ A)NO CHANGE

» B) from which

* C)when

* D) into which

« Planned obsolescence, a practice at which products are designed to have a limited period of
usefulness, has been a cornerstone of manufacturing strategy for the past 80 years.

+ A)NO CHANGE

» B) from which

* C(C)sothat

» D) whereby

+ It has long been known that the sea otters living along the West Coast of North America help
keep kelp forests in their habitat healthy and vital.

+ A)NO CHANGE

» B) living along the West Coast of North America, they help

+ C) that live along the West Coast of North America and help to

» D) that live along the West Coast of North America, where they help

* Inthe name of health, spending $1.60 for every dollar they would have spent on food that is
grown in a manner that is considered conventional.

*+ A)NO CHANGE

»  B) these consumers spend

»  C) having spent

+ D) tospend

» The city is populated by many people who, although their common language is English, the
languages at home range from speaking Armenian to Zapotec.
+ A) NOCHANGE

16
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B) speaking at home is in languages ranging from Armenian to Zapotec
C) the languages range from Armenian to Zapotec at home
D) speak languages at home that range from Armenian to Zapotec

CG Jung, a Swiss psychologist, whose renown as a pioneer in the field of psychoanalysis
almost equals that of Sigmund Freud.

A) NO CHANGE

B) CG Jung who was a Swiss psychologist and whose renown as a pioneer

C) A Swiss with renown as a psychological pioneer, CG Jung

D) CG Jung was a Swiss psychologist whose renown as a pioneer

Noun. Clause Sentence ZiFMMA)

That these skills are transferable across professions which makes them especially beneficial
to twenty-first-century students.

A) NO CHANGE

B) that

C) and

D) DELETE the underlined portion

Adv. Clause Sentence JRIEMA]

While these classes are particularly helpful to young students developing basic research
skills,_but adult patrons can also benefit from librarian assistance in that they can acquire
job-relevant computer skills.

A) NO CHANGE

B) and

C) for

D) DELETE the underlined portion.

Because consumers reap the nutritional benefits of Greek yogurt and support those who
make and sell it, therefore farmers and businesses should continue finding safe and effective
methods of producing the food.

A) NO CHANGE

B) it, farmers

C) it, so farmers

D) it: farmers

1.6 Parallel structure
1.6.1 =FFf7

—E
Her beauty, persistence, and kindness leave us a deep impression.
—E

Some books are to be tasted, some to be swallowed, and very few to be chewed and digested.

16.2 WEFIT

17
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FR&1E:

1.6.3 4>]:

As a result, librarians must now be proficient curators of electronic information, compiling,
catalog, and updating these collections.

A) NO CHANGE

B) librarians cataloging,

C) to catalog,

D) cataloging,

Confident that she was fully prepared, Ellen decided to spend the night before the recital
reading and relaxing but not to be practicing.

A) No change

B) more than to practice.

C) rather than practicing

D) rather than having practiced

The Poetry Book Society is an organization in London that provides information and
guidance for all lovers of contemporary poetry and giving them discounts on books of poetry.
A) No change

B) provides information, guidance, and the getting of discounts on books of poetry for all
lovers of contemporary poetry

C) not only provides information and guidance for lovers of contemporary poetry but also
gives them discounts on books of poetry

D) has been providing information and guidance for lovers of contemporary poetry and were
giving discounts on books of poetry

A hot-air balloon rises when the air inside it becomes warm, drops when that air cools, and
moves sideways when blown by the wind.

A) No change

B) moving sideways when the wind blows

C) when the wind blows, the movement is sideways

D) caused to move sideways when blown by the wind

Although winged, bats are not related to birds, because even if a bat’s small, furry body may
appear mouselike, bats are not rodents either.

A) NO CHANGE

B) whether

C) and although

D) seeing as

A review of the composer’s new symphony called it confusing because of its unusual
structure, and its melodious final movement makes it elegant.
A)No change

18
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» B) structure, although elegant by having its melodious final movement
» C)structure, and it is elegant with its melodious final movement
» D) structure but elegant because of its melodious final movement

1.7 Modifier placement
1.7.1 adj.& adv.
adj. ATLAfZ 1
adv. AT A2

1.7.2 4>
» The dead tree was a horrific depressing sight, and it continued to shed its dry needles all over
the yard.
+ A)NO CHANGE
»  B) horrified
* C) horrible
» D) horribly

* Oneach wing, all birds, having ten primary flight feathers, each one shaped slight different.
« A)NO CHANGE

» B) slight differently.

»  C)slightly differently.

» D) slightly more different.

*  The determinedly, ambitious Sam latched onto the perfect event.
+ A)NO CHANGE

*  B) determined, ambitiously

*  C) determined, ambitious

» D) determined, ambitiousness

1.7.3 Dangling modifiers
1) EX:
2) Btz
3) AR

« ERERE3:

* In 1972, to reduce pollution in the Great Lakes, limits having been set by the United States
and Canada on the amount of phosphorus that could be discharged into Lakes Erie and
Ontario .

* A) limits having been set by the United States and Canada

* B) limits set by the United States and Canada

+ C) the United States and Canada have set limits

* D) the United States and Canada set limits

» Traveling through Yosemite, the scenery of waterfalls and granite peaks, which we
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photographed, was beautiful.

A) the scenery of waterfalls and granite peaks, which we photographed, was beautiful
B) the waterfalls and granite peaks were the beautiful scenery we photographed

C) we photographed the beautiful scenery of waterfalls and granite peaks

D) we photographed the scenery of waterfalls and granite peaks, being beautiful

Returning to Dayville after ten years, the small town seemed much livelier to Margo than it
had been when she was growing up there.

A) Returning to Dayville after ten years, the small town seemed much livelier to Margo
B) Having returned to Dayville after ten years, it seemed a much livelier town to Margo
C) After Margo returned to Dayville in ten years, the small town seems much livelier

D) When Margo returned to Dayville after ten years, the small town seemed much livelier

Dressed in a crisp, clean uniform, it reflected the efficient manner of the tour guide as she
distributed maps for a walking tour of central Canberra.

A) Dressed in a crisp, clean uniform, it reflected the efficient manner of the tour guide

B) Dressed in a crisp, clean uniform, the efficient manner of the tour guide was reflected
C) Dressed in a crisp, clean uniform that reflected the efficient manner of the tour guide
D) The crisp, clean uniform of the tour guide reflected her efficient manner

4) frERA L

When/While/Although/If--- doing/done:--, SVO
By/Through/On/Upon--- doing/done:---, SVO

PR 143

By investigating Saturn’s rings, it is hoped by scientists to achieve greater insight into the
composition of stars and planetary systems.

A) it is hoped by scientists to achieve greater insight

B) it is hoped that scientists’ insight will be more greatly achieved
C) the insight of scientists will be achieved more greatly, hopefully,
D) scientists hope to achieve greater insight

While working as a nurse in the streets of Calcutta, that was when Mother Teresa developed
a profound love for the poor.

A) that was when Mother Teresa developed a profound love for the poor

B) Mother Teresa developed a profound love for the poor

C) then the development of Mother Teresa’s profound love for the poor took place
D) Mother Teresa's profound love for the poor developed

Although demanding and deadline driven, video game design can be a lucrative and
rewarding field for people who love gaming and have prepared themselves with the
necessary skills and knowledge.

A) NO CHANGE

B) the choice of video game design
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C) you should choose video game design because it

D) choosing to design video games

By building new windmill farms, consumption of fossil fuels are reduced, and tons of carbon
dioxide emissions are kept out of the atmosphere.

A) By building new windmill farms, consumption of fossil fuels are reduced, and tons of
carbon dioxide emissions are kept

B) By building new windmill farms, it reduces consumption of fossil fuels, and tons of
carbon dioxide emissions are kept

C) Building new windmill farms reduces fossil fuel consumption and keeps tons of carbon
dioxide emissions

D) New windmill farms, when built, reduce fossil fuel consumption, and also tons of
carbon dioxide emissions are kept

5) fr&fal 2

Of/Among/In + n, SVO

PTERR 243

Of all the states represented at the conference, the governor of Missouri was the only one to
present plans for enforcing the new regulations.

A) the governor of Missouri was the only one to present

B) Missouri’s governor only presented
C) Missouri’s governor presented the only
D) Missouri was the only one whose governor presented

Like most new residents, the town’s winding streets confused the Curtis family for a day or
two.
A) the town’s winding streets confused the Curtis family

B) the Curtis family was confused by the town’s winding streets
C) the Curtis family, who found the town’s winding streets confusing
D) there were winding streets in the town which confused the Curtis family

Frustrated and bored by rambling lectures, Professor Moore’s introductory philosophy
course was dropped by many students before the middle of the semester.

A) Professor Moore’s introductory philosophy course would be dropped by many students
B) Professor Moore’s introductory philosophy course, having been dropped by many
students

C) many students dropping Professor Moore’s introductory philosophy course

D) many students dropped Professor Moore’s introductory philosophy course

1.7.4 Misplaced modifiers:

\

1) X
2) AR B!
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1.75 23]

Many of the era’s top scientists ridiculed Birkeland’s work, who scoffed at the notion that
electrons from the Sun could reach Earth’s magnetic field from such a great distance.

A) NO CHANGE

B) Birkeland’s work was ridiculed by many of the era’s top scientists,

C) Many top scientists of the era ridiculed the won By Birkeland,

D) Many top scientists ridiculed Birkeland’s won During the era,

It was the brainchild of former journalist Martine Postma, wanting to take a practical stand
in a throwaway culture.

A) NO CHANGE

B) whom wants

C) who wanted

D) she wanted

During the labor dispute, barrels of potatoes were emptied across the highway, and they
thereby blocked it to all traffic.

A) highway, and they thereby blocked it to all traffic

B) highway and therefore blocking it to all traffic

C) highway, by which all traffic was therefore blocked

D) highway, thereby blocking all traffic

On October 13, 1955, at the Six Gallery in San Francisco, Allen Ginsberg read his poem
Howl, being the inauguration of both a new style in poetry and the Beat movement.

A) Howl, being the inauguration of both

B) Howl, both inaugurated

C) Howl, whose inauguration of both

D) Howil, thus inaugurating both

Buffalo herds, which once thrived in the Great Plains of North America, trampled vegetation,
and future plant growth was aided by this by returning nutrients to the soil.

A) and future plant growth was aided by this by returning nutrients

B) future plant growth was thereby aided and nutrients returned

C) thereby aiding future plant growth by returning nutrients

D) thereby an aid to future plant growth returned nutrients

Dotted with pin-sized knobs, another visitor noticed my fascination with a tiny writing desk
and its drawers.

A) NO CHANGE

B) Another visitor, dotted with pin-sized knobs, noticed my fascination with a tiny writing
desk and its drawers.

C) Another visitor dotted with pin-sized knobs noticed my fascination with a tiny writing
desk and its drawers.

D) Another visitor noticed my fascination with a tiny writing desk and its drawers, dotted
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with pin-sized knobs.

Inappropriate shifts in construction
1.8 Verb tense, mood, and voice
1.8.1 Shifts in tense

Tense

Simple Continuous Perfect

present do/does am/is/are doing have/has done

past

future

past future

A

g

1.8.2 4:3]:

A [EDIR B 1 -

Nutritionists consider Greek yogurt to be a healthy food: it is an excellent source of protein,
serves to be a digestive aid, and it contains few calories in its unsweetened low- and non-fat
forms.

A) NO CHANGE

B) containing

C) contains

D) will contain

But some fruits do not respond as well to 1-MCP as others did, and some even respond
adversely.

A) NO CHANGE

B) do,

C) have,

D) will,

1.8.3 Shifts in mood

1) imperative mood:
2) indicative mood:
3) subjunctive mood:

Past:

If had done---, would/should/could/might have done---
Present:

If were/did---, would/should/could/might do---

Future:

If were to do/should do ---, would/should/could/might do---

1.8.4 23]

Sally was certain that if someone else would have saw the accident, she would have been
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able to press charges.
+ A)NO CHANGE
* B) if someone else would see
* () if someone else had seen
* D) were someone else to see

«  After marching for four hours in temperatures exceeding ninety degrees, the band members
were as soaked as if marching through a rainstorm.

+ A)NO CHANGE

* B) having marched

+ Q) if from marching

* D) if they had marched

« If everyone would have contributed, we might have raised enough money to save the old
landmark from developers.

+ A)NO CHANGE

+ B) Had everyone contributed

* C) If there was a contribution from everyone

+ D) If everyone contributes

*  Our tour guide requested that, while hiking through the national park, our garbage not be
thrown on the trails.

« A)NO CHANGE

«  B) our garbage should not be thrown

« C) we did not throw our garbage

* D) we not throw our garbage

1.8.5 Shifts in voice
1) active voice:
2) passive voice:

1.8.6 Shifts in quotation
1) direct quotations:
2) indirect questions:

1.8.7 Shifts in question
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1.9 Pronoun person and number
1.9.1 Pronoun Person

1) the person talking

2) the person spoken to

3) the person, object, or concept being talked about

1.9.2 Number
1)
2)
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$E_EB4> Conventions of Usage

2.1 Pronoun clarity
2.1.1 A3

2.1.2 Riafg:

FA%

plg
3

B

you

he

she

it

we

they

213 FERANFDE:

* AR 1. ZHER

* AR 2. FERAZ
* (B 3.

* [B)R 4.

o3 EE: thistN

214 #&3]:

Acrtists associated with this began to rediscover and promote the work of the Mexican
muralists, particularly Siqueiros.

A) NO CHANGE

B) it

C) them

D) this movement

Scientists knew this but did not recognize how large a role they played in helping kelp forests
to significantly decrease the amount of carbon dioxide in the atmosphere.

A) NO CHANGE

B) how large a role that it played

C) how large a role sea otters played

D) that they played such a large role

Just as travelers taking road trips today may need to take a break for food at a rest area along
the highway, settlers traversing the American West by train in the mid-1800s often found
themselves in need of refreshment.

A) NO CHANGE

B) himself or herself

C) their selves
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* D) oneself

*  These Harvey Houses, which constituted the first restaurant chain in the United States, was
unigue for its high standards of service and quality.

*+ A)NO CHANGE

»  B) were unique for their

»  C) was unique for their

» D) were unique for its

2.2 Possessive determiners
2.2.1 possessive pronoun:

2.2.2 apostrophe:

RAIBXR:
RITGEE: he’s=

2.2.3 confusion of possessive case and subject-verb structure
its & it’s & its’
who’s & whose
they’re & their & there

2.2.4 %3
* You have to admire the honesty of a company who’s slogan is “Just About the Best.”
+ A)NO CHANGE
* B)whose
*  C)that’s
+ D) that the

»  As the dancers step the music, they are also stepping in time to a sound that embodies their
unique history and suggests the influence of outside cultures on their music.

+ A)NO CHANGE

* B)they’re

+ O)it’s
« D)its’
2.3 Agreement

2.3.1 PRONOUN-ANTECEDENT AGREEMENT
1) Pronoun person
2)  Number

2.3.2 SUBJECT-VERB AGREEMENT
Rule 1:

ny of na + verb

ni+ TiEERIE +n2+ verb
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HAEE:

Rule 2:

1) neither ... nor...

2) either ... or...
3)

Rule 3:

1) ny and ny

2) both n1 and n
3)

Rule 4:
1)
2) neither of
3) either of

Rule 5: T IENMIKETRE

S, ’VO

1) S, noun---, VO

2)S, -, VO
3)S, -, VO
Rule 6: @3

1) GIT=F

*  The bus comes here.
- R
* A big tree stands on the mountain.

2) BERAE:
s FREIE:
* | have never lied to you.

+ fERF:

3) So adj./ Adj./ Done A1H:
»  The ticket for the concert is available in the office.
- fEFEE:
»  The commission is supported by the proposed center.

+ fERF:

4) Only A&

«  Only+ +HEH A
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5) %3

On the Graduate Record Examination (GRE), for example, students intending to study
philosophy in graduate school has scored higher than students in all but four other majors.
A) NO CHANGE

B) have scored

C) scores

D) scoring

This trend, combined with the increasing accessibility of information via the Internet, has
led some to claim that librarianship is in decline as a profession.

A) NO CHANGE

B) have

C) which have

D) which has

Like any other health problems, these ailments can increase employee absenteeism, which,
in turn, is costly for employers.

A) NO CHANGE

B) are

C) is being

D) have been

Yet some of the earliest known works of art, including paintings and drawings tens of
thousands of years old found on cave walls in Spain and France, portrays animals.

A) NO CHANGE

B) portraying

C) portray

D) has portrayed

According to such organizations as the US Environmental Protection Agency, the minute
amounts of residue falling within such limits have no negative impact on human health.

A) NO CHANGE

B) is having

C) has had

D) has

Not all research into regional English varieties requires such time, effort, and resources,
however.

A) NO CHANGE

B) are requiring

C) have required

D) require

Proponents of organic food, of course, are quick to add that their are numerous other reasons
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to buy organic food.
A) NO CHANGE
B) there are

C) there is

D) their is

2.3.3 Noun agreement

iy
2)
3)

RATHE:
ATHE:
%3

Today more and more women are becoming doctors, lawyers, engineers,

chemists, or other professions.

A) or other professions

B) or they work in other professions

C) or at work in other professional fields

D) or professionals in other fields

2.4 Frequently confused words

Given these solutions as well as the many health benefits of the food, the advantages of
Greek yogurt outdo the potential drawbacks of its production.

A) NO CHANGE

B) defeat

C) outperform

D) outweigh

Also, because it is more concentrated, Greek yogurt contains slightly more protein per
serving, thereby helping people stay satiated for longer periods of time.

A) NO CHANGE

B) fulfilled

C) complacent

D) sufficient

In recent years, public libraries in the United States have experienced reducing in their
operating funds due to cuts imposed at the federal, state, and local government levels.

A) NO CHANGE

B)  reductions

C) deducting

D)  deducts

Kelp forests protected by sea otters can absorb as much as twelve times the amount of carbon
dioxide from the atmosphere as those where sea urchins are allowed to devour the kelp.

A) NO CHANGE

B) dispatch

C) overindulge
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*+ D) dispose of

» This approach increases sales, but it also stands in austere contrast to a time when goods
were produced to be durable.

+ A)NO CHANGE

« B) egregious

* C) unmitigated

« D) stark

*  While they await for service, patrons can enjoy coffee and snacks and mingle with their
neighbors in need.

+ A) NOCHANGE

+ B) awaiting

« C) theywaited

« D) waiting

*  While 1-MCP keeps apples tight and crisp for months, it also limits their scent production.
+ A) NOCHANGE

« B) firm
« C) stiff
« D) taut

»  These cats are so cherished by the museum that officials recently decreed original paintings
to be made of six of them.

« A) NOCHANGE

« B) commissioned

« C) forced

« D) licensed

»  The reason for Siqueiros's secrecy became clear when the mural was confided.
+ A)NO CHANGE

* B) promulgated

* C) imparted

* D) unveiled

» Although advocates of organic food preserve that organic produce is healthier than
conventionally grown produce because...

+ A) NOCHANGE

* B) carryon

« C) maintain

« D) sustain

» Brice Russ of Ohio State University, for example, has employed software to sort through
postings on one social media cite in search of particular words and phrases of interest as well
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as the location from which users are posting.
A) NO CHANGE

B) site in search of

C) sightin search for

D) cite in search for

Courses in psychology and human behavior may help you develop emphatic collaboration
skills, while courses in the humanities should give you the background necessary to develop
effective narrative structures.

A) NO CHANGE

B)  paramount

C) eminent

D) important

2.5 Logical comparison

1) EE&
2) tb&
3 TR

SINIWIUR
A WUR
%ﬁ—:
e KRR ER:

In some species of birds, such as the peafowl, the plumage of the male is more colorful and
more variegated than the female.

A) NO CHANGE

B) than are the females

C) than that of the female

D) compared to the female

A good online course at the high school level provides resources that are comparable to
courses in which teachers and students are in the same room.

A) NO CHANGE

B) providing courses

C) that of courses

D) those provided by courses

The Amazon River carries more water than the water carried in any of the world’s other riv
ers.

A) NO CHANGE

B) the water elsewhere in the world's rivers

C) any other river in the world

D) all rivers in the world

Twice as many bird species inhabit Ecuador as in North America.
A) NO CHANGE

32

EISE RIS —FEREMME: tt19222222
XEMELRS [FAEFRIE] RFEEFQQEF: 928825017



;f’r'zﬁﬁ lkoolearn .
AR FITEL SAT SCEETRYE (BB R (LTE)

B) as inhabit

C) instead of in

D) when compared to
EE
The library is older than it but still just as beautiful as the courthouse.
A) NO CHANGE

B) older and it is just as beautiful as the courthouse

C) older than the courthouse; it is just as beautiful as it

D) older than the courthouse but just as beautiful

ZR= s IafER

Researchers have found that large fish are most likely to contain high
levels of mercury than small fish.

A) NO CHANGE

B) are more likely to contain high levels of mercury compared to small fish
C) are more likely than small fish to contain high levels of mercury

D) compared with small fish most likely to contain high levels of mercury

2.6 Conventional expression

Nutritionists consider Greek to be a healthy food: it is an excellent source of calcium and
protein, serves to be digestive aid, and contains few calories in its unsweetened low-and no-
fat forms.

A) NO CHANGE

B) as

C) like

D) for

It was during this time that read an article into coworking spaces.
A) NO CHANGE

B) about

C) upon

D) for

As | walked through the exhibit, | overheard a visitors’ remark, “You know, that grandfather
clock actually runs. Its glass door swings open, and the clock can be wound up.”

A) NO CHANGE

B) visitors remarking,

C) visitor remarked,

D) visitor remark,

Glass walls and dividers can also be used to replace solid walls as a means through
distributing natural light more freely.

A) NO CHANGE

B) of
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« C) from
+ D) DELETE the underlined portion

» The new regulations have so complicated the process of formulating a school budget to
where no one on the Board of Education is eager to undertake the task.

*+ A) budget to where

* B) budget, even

* C) budgetas

+ D) budget that

»  Computers compiling statistics for scientists have supplied a deluge of information, and it
has changed the way that research is conducted.

* A) adeluge of information, and it has

» B) agreat deal of information, and that is

* C) somuch information; it is, therefore

D) somuch information that they have

» No sooner had Andrea del Sarto traveled to France to work for the French king but his wife
persuaded him to return to Italy.

* A) but his wife persuaded him to return

* B) but his wife had him persuaded into returning

* C) than he was persuaded by his wife that he will return

+ D) than his wife persuaded him to return

» Just as Ireland has produced many famous writers and the Netherlands an abundance of
famous painters, so Finland has provided a large humber of famous architects.

* A) so Finland has provided a large number of famous architects

* B) Finland provides famous architects, and by large numbers

* C) Finland’s contribution is to provide famous architects in a large number

*+ D) andso then, for Finland, a large number of famous architects is provided
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| =F4> Conventions of Punctuation

3.1 Comma

11EBSHE

1) EEHIIRS (X8, Bi1§, KRG TI18)
2)
3)
4) HRRIEREMEIEMNG

« FIEIERRFIME or BRFIMEEIFEMA?

*  Those who reveal state secrets will be severely punished.

»  The company rewards employees who work hard.

» My father, whom you met in Paris, is now back in London.

*  The company, which is located in Michigan, has a good reputation.

5) S BRHEAIE
© HIAREIE:
* ENAKENRREE:
s ERRKEEREE:
* MARMAREE:
« FAER, SEEIEAE:
* KSR FIBEN:

3.1.2 REERESHER

1) FBEAFRHOS—FIBEZE:
*  The retiring worker, was applauded more than she expected.
*  The man says, nothing.

2)

»  There were growing, doubts about the victory statement.
3) '

*  Wolves supposedly, disappeared from the area years ago.

AR ERIENZIR. shiF. ERRZE:

»  One might call it a mistake, in tactics.

»  These tests convinced the officials of the value, of using the Navajo language in a code.

3.2 Colon
« E-S colon
* Heis able to speak 4 languages: French, German, Russian, and Italian.
» The result is surprising: 10 percent in favor, 8 percent opposed, 82 percent no opinion.

w. ”

3.3 Semicolon
* 435 semicolon™;"
»  The student became somewhat confused; he couldn't understand the meaning of the sentence.
» Some arrive with letters proclaiming the writer's genius; others come with apologies for
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taking up our time.

3.4 Dash

fdrS dash  “—"
The manager’s reports—all of them—recommend production cutbacks for the coming year.

She—the first woman elected to the board of directors—is the next speaker.

3.5 Apostrophe

#fi-S apostrophe ’
RNFTBE
RNERER

BREEHS:

The spaces are usually stocked with standard office equipment, such as photocopiers,
printers, and fax machines.

A) NO CHANGE

B) equipment, such as:

C) equipment such as:

D) equipment, such as,

Conceptualizing a game is only the beginning of a video game designer’ s job, however, no
matter how good a concept is, it will never be translated into a video game unless it is
communicated effectively to all the other members of the video game development team.
A) NO CHANGE

B) job, however. No

C) job—however, no

D) job however no

Over time, I’ve gotten to know several of my coworking colleagues: another website
developer, a graphic designer, a freelance writer, and several mobile app coders.

A) NO CHANGE

B) colleagues;

C) colleagues,

D) colleagues

It took me by surprise, then, when my favorite exhibit at the museum was one of it’s tiniest;
the Thorne Miniature Rooms.

A) NO CHANGE

B) its tiniest;

C) its tiniest:

D) it’s tiniest,

These days, many student’s majoring in philosophy have no intention of becoming
philosophers; instead they plan to apply those skills to other disciplines.
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« A)NO CHANGE

»  B) students majoring
»  C) students major

* D) student’s majors

» Like their terrestrial plant cousins, kelp removes carbon dioxide from the atmosphere,
turning it into sugar fuel through photosynthesis, and releases oxygen back into the air.

« A)NO CHANGE

* B)they’re

« QO)its

« D)it’s

» Planned obsolescence, a practice by which products are designed to have a limited period of
usefulness, has been a cornerstone of manufacturing strategy for the past 80 years.

+ A)NO CHANGE

*  B) usefulness—

*  C) usefulness;

» D) usefulness

»  Despite having worked for railroad companies, Fred Harvey, an English-born entrepreneur.
He decided to open his own restaurant business to serve rail customers.

+ A)NO CHANGE

* B) entrepreneur:

*  C) entrepreneur; he

» D) entrepreneur,
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S E 4> Standard English Convention Z&%43

1. The music is mainly instrumental—the bands generally consist of guitar, bass guitar,
saxophones, accordion, and drums.

A) NO CHANGE

B) instrumental, the bands generally

C) instrumental. The bands, generally

D) instrumental; the bands generally,

2. The word itself comes from the Spanish word for dance, baile.
A) NO CHANGE

B) word, itself,

C) word, itself

D) word itself,

3. Couples dance cheek to cheek to the relaxed two- step tempo, and the bands often play long past
midnight.

A) NO CHANGE

B) play long, past,

C) play, long past,

D) play, long past

4. To add to the confusion, every New Year’s Day a person according to this Korean counting
system, becomes a year older, regardless of his or her actual birthday.

A) NO CHANGE

B) person,

C) person;

D) person who,

5. The theremin is remarkable because, unlike most traditional musical instruments, it does not
have any keys strings, or valves. Instead, it consists of a box with two antennae—one vertical
antenna on the top and another antenna, shaped like a loop, on the side.

A) NO CHANGE

B) keys, strings or,

C) keys, strings, or

D) keys strings or

6. The practice of advancing a person’s age seems to me to reflect the value a society places on life
experience and longevity.

A) NO CHANGE

B) persons’ age

C) persons age

D) person’s age,
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7. The United States District Court of New Hampshire; agreed to hear Kevin’s case.
A) NO CHANGE

B) Court, of New Hampshire

C) Court of New Hampshire

D) Court of New Hampshire,

8. The court agreed with Kevin that a person’s right to wearing clothing of his or her own choosing
is, in fact, protected by the Fourteenth Amendment. The court noted, however that restrictions may
be justified in some circumstances, such as in the school setting.

A) NO CHANGE

B) court noted, however,

C) court, noted however,

D) court noted however,

9. Kevin Bannister’s case was significant in that it was the first in the United States to address
clothing prohibitions of a school dress code. His challenge initiated a review, of students’ rights
and administrative responsibility in public education.

A) NO CHANGE

B) review, of students’ rights,

C) review of students’ rights
D) review of students’ rights,

10. Houdini, who devoted considerable effort to exposing hoaxes involving spiritualism and was
skeptical about the existence of supernatural beings.

A) NO CHANGE

B) spiritualism, being

C) spiritualism, was

D) spiritualism and

11. Although her physical contact with the world was limited by caring for her invalid mother and
by her own poor health, Dickinson’s correspondence was extensive: over one thousand letters to
upwards of one hundred correspondents.

A) NO CHANGE

B) extensive, and over

C) extensive; over

D) extensive. Over

12. Other letters are solemn; speaking of relatives and friends who had died.
A) NO CHANGE

B) solemn they speak

C) solemn, speaking

D) solemn. Speaking
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13. Hawaii’s green sea turtle, has been classified as an endangered species for over25 years.
A) NO CHANGE

B) turtle has been classified as

C) turtle, has been classified as,

D) turtle has been classified: as

14. After we pull the heavy turtle back to the water. | don fins, a mask, and a snorkel to watch the
turtle after it’s released.

A) NO CHANGE

B) water. So

C) water,

D) water;

15. Actually, though, the law requires fair and equal treatment in all educational areas: which are
including admissions, scholarships, housing, and academic programs.

A) NO CHANGE

B) areas that included

C) areas, since including

D) areas, including

16. For example, in addition to Title IX, Mink introduced: the Early Childhood Education Act and
supported the Women’s Educational Equity Act.

A) NO CHANGE

B) introduced

C) introduced,

D) introduced—

17. The theremin, the first electronic musical instrument, was invented in 1918 by Russian
physicist, Léon Thé&émin.

A) NO CHANGE

B) physicist

C) physicist—

D) physicist:

18. Whenever Umberto sang in the shower, his voice rings throughout the house.
A) NO CHANGE

B) isringing

C) wouldring

D) hasrung

19. To prepare for Tet, the Vietnamese Lunar New Year celebration, families clean their homes, buy

new clothing, and their debts are paid.
A) NO CHANGE
B) clean their homes, they buy new clothing, and their debts are paid
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C) clean their homes, buy new clothing, and they pay their debts
D) clean their homes, buy new clothing, and pay their debts

20. Fermentation is caused by yeast, which turns sugar and starch into alcohol and carbon dioxide.
A) NO CHANGE

B) it turns sugar and starch

C) by itturning sugar and starch

D) assugar and starch turns

21. The investors wanted to know did the company make a profit in the last quarter of the previous
year.

A) NO CHANGE

B) had the company made

C) if the company has made

D) whether the company had made

22. New data showing that Saturn’s rings were probably orbiting the planet billions of years ago,
overturning scientists' earlier belief that the rings are only about 100 million years old.

A) New data showing that Saturn’s rings were probably orbiting the planet billions of years ago.
overturning

B) New data show that Saturn’s rings were probably orbiting the planet billions of years ago,
overturning

C) New data that show that Saturn’s rings probably orbited the planet billions of years ago,
overturning

D) New data that show that Saturn's rings probably orbited the planet billions of years ago, and
overturn

23. My father insists that before buying a used car, have it thoroughly inspected by a reputable
mechanic.

A) NO CHANGE

B) buying a used car, it is

C) buying a used car, | have it

D) |buyaused car to have it

24. Buying a new pair of sunglasses was Karim, and pleased that they were half price.
A) NO CHANGE

B) a new pair of sunglasses, Karim was pleased they were half price.

C) New sunglasses were half price, Karim bought them.

D) Karim was pleased that the sunglasses he bought were half price.

25. The number of wildebeests inhabiting the Serengeti region was approximately 100,000 in 1950
but, thanks to the establishment of the Serengeti National Park in 1951, now rise to about 1.5
million.

A) NO CHANGE
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B)  now rising
C) are now risen
D) hasnow risen

26. Callahan’s brief introductory descriptions of Ralph Ellison’s short stories were carefully written
to engage_interest rather than summarizing the plots.

A) NO CHANGE

B) interest rather than summarized

C) interest rather than to summarize

D) interest instead of be a summary of

27. The beneficial effects of exercise for patients with mild heart disease is increasingly well
documented.

A) NO CHANGE

B) isincreasing and

C) areincreasingly

D) areincreasing and is

28. If we have knowledge of the future, our lives would be more predictable but less interesting
A) NO CHANGE

B) If we have had

C) If we would have

D) Were we to have

29. Flying at a very low altitude in an effort to avoid radar detection, the townspeople were startled

by the jet fighter’s supersonic boom.

A) NO CHANGE

B) townspeople found the jet fighter, s supersonic boom startling
C) jet fighter startled the townspeople with its supersonic boom
D) jet fighter’s supersonic boom startled the townspeople

30. Unlike with alligators, whose lower teeth are hidden when the animal’s mouth is closed, the
lower teeth of a crocodile are always on display.

A) NO CHANGE

B) an alligator, whose lower teeth

C) the lower teeth of alligators that

D) the lower teeth of an alligator, which

31. The political process in the United States is dominated by the Demo atic and Republican
parties, other parties can still influence the nation’s political life, though

A) NO CHANGE

B) still, other parties can influence the nation’s political life

C) other parties, however, can still influence the nation’s political life
D) though other parties can still influence the nation’s political life
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32. While studying mutations in corn, biologist Barbara McClintock discovered that certain genes
that were able to move their positions on chromosomes and control the activity of other genes.

A) NO CHANGE

B) that had been able

C) were able

D) able

33. Richard Axel and Linda B. Buck’s research has demonstrated how receptors in the nose detect
odors, how receptor cells send information to the brain, also the brain recognizes particular odors.
A) NO CHANGE

B) and the brain recognizes particular odors

C) and how the brain recognizes particular odors

D) and how particular odors recognized by the brain

34. After each of the architects have finished to present a plan for the building’s renovation, the
committee considered the proposals and made its decision.

A) NO CHANGE

B) have finished presenting

C) has finished presenting

D) had finished presenting

35. With its fast whirling of partners held as if in an embrace, many people were shocked by the
waltz when it was introduced around 1800.

A) NO CHANGE

B) embrace, around 1800, many people were shocked when the waltz was introduced

C) embrace, the waltz shocked many people when it was introduced around 1800

D) embrace, the introduction of the waltz, around 1800, shocked many people

36. Cattle ranchers often view the prairie dog as pests, eating pasture grasses and digs holes that
can injure cattle.

A) NO CHANGE

B) pests, they eat

C) pests that eat

D) apestbecause it eats

37. Although one might think that contact lenses are a recent invention, but in fact were developed
more than a century ago.

A) NO CHANGE

B) but they were in fact

C) they have in fact been

D) they were in fact

38. By using a thimble to protect your finger from the needle, the thimble makes sewing easier.
A) NO CHANGE
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B) you can sew more easily
C) sewing is easier
D) it can be sewn easier by you

39. Unlike several decades ago, today’s librarians teach students to evaluate the accuracy and
objectivity of online resources in addition to helping them find particular books.

A) NO CHANGE

B) Unlike them of

C) Unlike those of

D) Contrary to those

40. Below the bend, the river, flowing more swiftly, as it cuts through sand hills covered with
pine trees.

A) NO CHANGE

B) river, flowing more swiftly, cutting

C) river flows more swiftly and it is cutting

D) river flows more swiftly as it cuts

41. Although the Milky Way Galaxy is now two and a half million light-years away from the
Andromeda Galaxy, but it is predicted by scientists that the two galaxies will merge into one in a
few billion years.

A) NO CHANGE

B) but scientists predict

C) scientists who predict

D) scientists predict that

42. After receiving a degree in agriculture from lowa State Agricultural and Mechanical College,
a faculty position at the college was accepted by George Washington Carver, and he took charge
of the college greenhouses.

A) NO CHANGE

B) a faculty position was accepted by George Washington Carver at the college, he took

C) George Washington Carver accepted a faculty position at the college and took

D) George Washington Carver, accepting a position on the faculty at the college, taking

43. Although Debussy and Ravel are generally considered an impressionist composer, their
compositional styles are quite distinct from one another.

A) an impressionist composer, their compositional styles are

B) to be an impressionist composer, their compositional style is

C) as having been impressionist composers, their compositional style is

D) impressionist composers, their compositional styles are

44. The underside of the starfish is covered with hundreds of tube feet, which it uses to walk
around, for attaching tightly to rocks, and holding on to prey.
A) to walk around, for attaching tightly to rocks, and holding
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B) to walk around, for its light attachment to rocks, and to hold
C) for walking around, to attach tightly to rocks, and holding
D) for walking around, attaching tightly to rocks, and holding

45. In 1853 African American residents founded the San Francisco Athenaeum; its library and
museum served as the hub of Black intellectual life in the region.

A) NO CHANGE

B) its library and museum, they served

C) their library and museum serving

D) the library and museum will be to serve

46. Television weather forecasters sometimes overdramatize the severity of an
approaching snowstorm, cause segments of their audience unnecessary anxiety.

A) NO CHANGE

B)  which cause

C) causing

D) they cause

47. Were | to be granted a whole month in which to do whatever | wanted, | would travel
throughout Africa and see as much of that continent as | could.

A) NO CAHNGE

B) If I would have been granted

C)  With me being granted

D) Granting me

48. Only after reading it carefully several times was the poem beginning to make sense to me.
A) NO CHANGE

B) | began making sense of the poem

C) did the poem begin making sense to me

D) did I begin to make sense of the poem

49. Joel Roberts Poinsett, the first United States ambassador to Mexico, and the poinsettia plant

was introduced into the United States by him.

A) NO CHANGE

B) and by him the poinsettia plant was introduced into the United States

C) introduced the poinsettia plant into the United States

D) and through him came the introduction of the poinsettia plant to the United States

50. If you sail due west from the city of Perth in Australia, one will not encounter land until the
coast of Africa is reached.

A) NO CHANGE

B) one will not encounter any other land before reaching the coast of Africa

C) you will not be encountering land, not until you reach the coast of Africa

D) you will not encounter land until you reach the coast of Africa
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51. Current research suggests that your memory of an event is constructed both from bits and
pieces of your own experience and from what other people have told you about the event

A) NO CHANGE

B) and also from what other people tell one about the event

C) but from other people. telling of the event to a person

D) and that which is told to one by other people concerning the event

52. The Napa Valley of California, where pioneer George Yount planted the first grapevines in
1838, and it also is known for its rich soil, sunny days, and cool nights—ideal grape-growing
conditions.

A) NO CHANGE

B) known also

C) being known

D) is known

53. Historical buildings and objects are fragile and vulnerable, each nation has a responsibility to
preserve these artifacts for future generations.

A) NO CHANGE

B) as such each nation has a responsibility

C) since such is the case, each nation's responsibility is

D) so each nation has a responsibility

54. Piloted flights to Mars have not been planned because it requires costly and complicated
technology.

A) NO CHANGE

B) because it would require

C) because they would require

D) asthey are requiring

55.Yogurt and buttermilk were valued originally not so much for their nutritional benefits but
because they were resistant to spoilage.

A) NO CHANGE

B) but because of their resistance

C) as for them resisting

D) as for their resistance

56. Every year my high school hosts international exchange students, those teenagers join our
senior class.

A) NO CHANGE

B) students, he or she is invited to

C) students who

D) students they
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57. Last year, one of our school’s exchange students was Ligia Antolinez, who came from
Bucaramanga, Colombia.
A) NO CHANGE

B) whom
C) which
D) shewho

58. “Miami time” referred to those moments, when time seemed to slow down or stand still.
A) NO CHANGE
B) moments when
C) moments, as if
D) moments, because

59. Wolves are now classified as an endangered species in all the lower forty-eight states except
Minnesota, after which the animals began migrating from Canada in the 1960s.

A) NO CHANGE

B) from which

C) when

D) into which

60. In 1928 in San Antonio, Texas, where Mendoza and her family made their first recording.
A) NO CHANGE

B) it was there that

C) was where

D) OMIT the underlined portion.

61. While Clemente’s achievements in the sport of baseball are impressive. His charity work off the
field has marked him as one of the greatest humanitarians in professional sports.

A) NO CHANGE

B) impressive, but his

C) impressive and his

D) impressive, his

62._In 1989, he came up with his idea for a line of Southern-inspired cuisine, a time when there
were no convenience foods designed for African American consumers.

A) NO CHANGE

B) He came up with his idea for a line of Southern-inspired cuisine in 1989,

C) He came up in 1989, with his idea for a line of Southern-inspired cuisine,

D) The idea came to him in 1989, that a line of Southern-inspired cuisine should be marketed,

63. Our office fills up with subscription forms and fliers that we must sort, bundle, and tote to the
post office to be mailed.

A) NO CHANGE

B) fliers, these we must
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C) fliers these we have to
D) fliers, we must

64. Two days later, they were again in bitter cold, and while climbing over a 10,200-foot-high
glacier named Titan Dome.

A) NO CHANGE

B) they climbed

C) climbing

D) to climb
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Expression of Ideas

SERE4 Development

5.1 Proposition

5.2 Support

5.3 Focus

5.4 Quantitative information

5.1 Proposition
1) BX:
2) ZRNEXRMRIFR:
« JHHEASC  (Informative) :
1) TEEREIHIKERE, URtRE—
2)

«  I$3C (Argumentative)
1) FEMRLERELIE, MRIBEFELERANE. 824
2)

e 280 (Narrative)

1) AEPNAZFNES, ERBEUR

[ ] 2)
3) BANE=EER:

1) B5%EEH: 1EERHOBE

c 2) EEDE: REEHREMNBEREMO

. 3)

4) Proposition A
. ]_)
* 2) servesas a transition
» 3) servesasachange

OG Test 3
How Do You Like Those Apples?

As the graph shows, the flesh of untreated Empire apples that are first stored in the open air
undergoes 31 roughly five percent less browning than the flesh of untreated Empire apples that are
immediately put into storage in a controlled environment. However, when Empire apples are
treated with 1-MCP, 32 their flesh turns brown when the apples are first stored in the open air,
though not under other conditions. Although researchers continue to search for the right
combination of factors that will keep fruits fresh and attractive, _[33] the problem may be that
consumers are overly concerned with superficial qualities rather than the actual freshness of the
fruit.
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33. The writer wants a conclusion that conveys how the shortcomings of 1-MCP presented in the
passage affect the actions of people in the fruit industry. Which choice best accomplishes this goal?
A) NO CHANGE

B) many of the improvements to fruit quality they have discovered so far have required trade-offs
in other properties of the fruit.

C) for now many fruit sellers must weigh the relative values of aroma, color, and freshness when
deciding whether to use 1-MCP.

D) it must be acknowledged that 1-MCP, despite some inadequacies, has enabled the fruit industry
to ship and store fruit in ways that were impossible before.

5.2 Support
1) Support——Ii£ #E 7 #F:

1)

© 2) FETAIFISHE SRR T AR
2) L

1)

©2) WIEERIN: 1EAILIERIAE M
© 3) IHERIENAR: BERMEE

* To address the problem of disposal, farmers have found a number of uses for acid whey.
They can add it to livestock feed as a protein _[2] supplement, and people can make their
own Greek-style yogurt at home by straining regular yogurt.

» 2. Which choice provides the most relevant detail?

+ A)NO CHANGE

» B) supplement and convert it into gas to use as fuel in electricity production.

* C) supplement, while sweet whey is more desirable as a food additive for humans.

» D) supplement, which provides an important element of their diet.

* The rooms and their furnishings were painstakingly created to scale at 1/12th their actual
size, so that one inch  (Z£<J) in the exhibit correlates with one foot in real life. A couch,
for example, is seven inches long, and _[17] that is based on a seven-foot-long couch.

« 17. Which choice gives a second supporting example that is most similar to the example
already in the sentence?

*+ A) NO CHANGE

» B)atea cup is about a quarter of an inch.

» C) there are even tiny cushions on some.

» D) household items are also on this scale.

5.3 Focus

1) MBRSARINILHE:
© BEMIBRAER:
© BEAMEIXEFANER:

2) JIAr:
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© BHBFRT, SERHNREREHEX

o IRIUFIET, {EIEEH

[6] Though these conservation methods can be costly and time-consuming, they are well worth

the effort. Nutritionists consider Greek yogurt to be a healthy food: it is an excellent source of
calcium and protein, serves to be a digestive aid, and it contains few calories in its unsweetened
low- and non-fat forms. Greek yogurt is slightly lower in sugar and carbohydrates than
conventional yogurt is.

6. The writer is considering deleting the underlined sentence. Should the writer do this?

A) Yes, because it does not provide a transition from the previous paragraph.

B) Yes, because it fails to support the main argument of the passage as introduced in the first
paragraph.

C) No, because it continues the explanation of how acid whey can be disposed of safely.

D) No, because it sets up the argument in the paragraph for the benefits of Greek yogurt.

5.4 Quantitative
12
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Questions 12-22 are based on the following passage 12

and supplementary material.
- i Which choice most accurately and effectively

: represents the information in the graph?
Dark Snow A) NOCHANGE
Most of Greenland's interior is covered by a thick B) to 12 degrees Fahrenheit.
: ) to their lowest point on December 13,

: D) to 10 degrees Fahrenheit and stay there for
Greenland Ice Sheet. The size of the ice sheet fluctuates months.

layer of ice and compressed snow known as the

seasonally: in summer, average daily high temperatures
in Greenland can rise to slightly above 50 degrees
Fahrenheit, partially melting the ice; in the winter, the
sheet thickens as additional snow falls, and average daily

low temperatures can drop [[BJ to as low as 20 degrees.

Average Daily High and Low Temperatures Recorded
at Nuuk Weather Station, Greenland (1961—1990)

| T T T
604 Mar5 Jun 10 Sep & Dec 13
E 50+ 457 _A==""=~_ |45
" |- T
5 40+ = e I =L
T_" "..- ___.,_..--"’ "‘;;.,\_' ] 360
ﬂ. 30+ 207 _'_f" r,.-""r, 357 - h\"‘\\_\ ——— —
E i T4 // H'_"“'--._.H
T Ry 15"
1 12°
|

Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec

———- average daily high
average daily low

Adapted from WMO. ©2014 by World Meteorological Organization.

29
Coworking: A Creative Solution
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31

What most caught my interest, though, wasa
quotation from someone who described coworking
spaces as “melting pots of creativity.” The article refers to

22012 survey in which m 64 percent of respondents

noted that coworking spaces prevented them from

completing tasks in a given time. The article goes on to

suggest that the most valuable resources provided by
coworking spaces are actually the peop]e whom use

them.

29

At this point, the writer wants to add specific
information that supports the main topic of the

paragraph.
Perceived Effect of Coworking on Business Skills

| B positive impact ] negative impact |

ideas relating
to business [|2%

T4%

1

1%

1

creativity 20y

ability to focus 6%

completing tasks 64%

in a given time 8%

: i

-

standard of work 20 62%
Adapted from “The 3rd Global Coworking Survey.” @2013 by
Dieskmag.

1

Which choice most effectively completes the
sentence with relevant and accurate information
based on the graph above?

A) NOCHANGE

B) 71 percent of respondents indicated that using a
coworking space increased their creativity.

) respondents credited coworking spaces with
giving them 74 percent of their ideas relating to
business.

D) respondents revealed that their ability to focus
on their work improved by 12 percent in a
coworking space.
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he was able, among other things, to confirm regional
variations in people’s terms for soft drinks. As the map
shows, “soda” is commonly heard in the middle and
western portions of the United States; “pop” is frequently
used in many southern states; and “coke” is predominant
in the northeastern and southwest regions but used
elsewhere as well. JJJ] As interesting as Russ’s findings

are, though, -T.I'Le}"re true value lies in their reminder

that the Internet is not merely a sophisticated tool for

collecting data but is also - itself a rich source of data.

Soft Drink Descriptions by State
Highest Percentage Reported

[=] coke
[ soda

Adapted from Jennifer M. Smith, Department of Geography, The
Pennsylvania State University, with data from www popvssoda.com

The writer wants the information in the passage

to correspond as closely as possible with the
information in the map. Given that goal and

assuming that the rest of the previous sentence

would remain unchanged, in which sequence
should the three terms for soft drinks be discussed?

A)
B}
C)
D}

(7]
]

Al
B}
C)
D)

KO CHANGE

“pop,” “soda,” “coke”
“pop.” “coke,” “soda”
“sodﬂ,"|°‘colce,” “pop”

NO CHANGE

their true value lies in their
there true value lies in theyre
their true value lies in there

Which choice most effectively concludes the
sentence and paragraph?

A)
B}

)

)]

NO CHANGE
where we can learn what terms people use
to refer to soft drinks.

a useful way to stay connected to friends,
family, and colleagues.

helpful to researchers.
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$AE4> Organization

6.1 Logical sequence
6.2 Introduction, conclusion, transitions

6.1 Logical sequence
1) it RE:
© A EEHER:
« b EgEEA:
s ¢ EEMA:

2) B MERR, fEK

3) MAME:
© a BEkrhaEncr
© b XEHREREINF
© c EBEATEHF

4) WU TA:

A MEXHEENZEMMERMERA
* b
¢ BIEXENEEMEXME  (KRiAE)
e d
+ e KEERIA
- f ETEKEET
9. BERS
OG Test 1

[1] The main environmental problem caused by the production of Greek yogurt is the creation of
acid whey as a by-product. [2] Because it requires up to four times more milk to make than
conventional yogurt does, Greek yogurt produces larger amounts of acid whey, which is difficult to
dispose of. [3] To address the problem of disposal, farmers have found a number of uses for acid
whey. [4] They can add it to livestock feed as a protein supplement, and people can make their own
Greek-style yogurt at home by straining regular yogurt. [5] If it is improperly introduced into the
environment, acid-whey runoff can pollute waterways, depleting the oxygen content of streams and
rivers as it decomposes. [6] Yogurt manufacturers, food scientists; and government officials are
also working together to develop additional solutions for reusing whey. 5

5. To make this paragraph most logical, sentence 5 should be placed
A) where it is now.
B) after sentence 1.
C) after sentence 2.
D) after sentence 3.
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OG Test 1

Coworking: A Creative Solution

[1] Thus, even though | already had all the equipment | needed in my home office, | decided to try
using a coworking space in my city. [2] Because I was specifically interested in coworking’s
reported benefits related to creativity, | chose a facility that offered a bright, open work area where
I wouldn’t be isolated.[3] Throughout the morning, more people appeared.[4] Periods of quiet,
during which everyone worked independently, were broken up occasionally with lively
conversation. 31

31. The writer wants to add the following sentence to the paragraph.
After filling out a simple registration form and taking a quick tour of the facility, | took a seat at a
table and got right to work on my laptop.

The best placement for the sentence is immediately
A) before sentence 1.

B) after sentence 1.

C) after sentence 2.

D) after sentence 3.

OG Test 2
Questions 12-22 are based on the following passage. m
A) NOCHAMNGE
Tiny Exhibit, Big Impact B) For instance,

— C)} However,
o » ) L D) Similarly,
The first time I visited the Ant Institute of Chicago,

I expected to be impressed by its famous large paintings.

:
[l ©n one hand, [ couldn't wait to view [JJj painter, A NO CHANGE
Georges Seurat’s, 10-foot-wide A Sunday Afternoon on B} painter, Georges Seurat’s

the Island of La Grande Jafie in its full size. [t took me by C} painter Georges Seurat’s,

) . . D) painter Georges Seurat's
surprise, then, when my favorite exhibit at the museum

Was one ot'- it's tiniest; the Thorne Miniature Rooms.
A) NOCHANGE
B} its tiniest;
C} its tiniest:
D) it’s tindest,
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— 3 _

Viewing the exhibit, I was amazed by the intricate
details of some of the more ornately decorated rooms.

1 marveled at a replica of a salon (a formal living room)
dating back to the reign of French king Louis XV.
- Built into the dark paneled walls are bookshelves
stocked with leather-bound volumes. The couch and
chairs, in keeping with the style of the time, are
characterized by elegantly curved arms and [JJJj less, they
are covered in luxurious velvet. A dime-sized portrait of a
French aristocratic woman hangs in a golden frame.

.

This exhibit showcases sixty-eight miniature rooms
inserted into a wall at eye level. Each furnished room
consists of three walls; the fourth wall is a glass pane
through which museumgoers observe. The rooms and
their furnishings were painstakingly created to scale at
1/12th their actual size, so that one inch in the exhibit
correlates with one foot in real life. A couch, for example,
is seven inches long, and [ that is based on a

seven-foot-long couch. Each room represents a

distinctive style of European, American, or Asian interior

design from the thirteenth to twentieth centuries.

—4_

The plainer rooms are more sparsely [JJj furnished.
Their architectural features, furnishings, and decorations
are just as true to the periods they represent. One of my
favorite rooms in the whole exhibit, in fact, is an 1885
summer kitchen. The room is simple but spacious, with a
small sink and counter along one wall, a cast-iron wood
stove and some hanging pots and pans against another
wall, and -a small table under a window of the third
wall. Aside from a few simple wooden chairs placed near

the edges of the room, the floor is open and obviously

well worn.

At this point, the writer is considering adding the
following sentence.

Some scholars argue that the excesses of
King Louis XV's reign contributed
significantly to the conditions that resulted
in the French Revolution.

Should the writer make this addition here?

A) Yes, because it provides historical context for the
Thorne Miniature Rooms exhibit.

B) Yes, because it explains why salons are often
ornately decorated.

C) Mo, because it interrupts the paragraph’s
description of the miniature salon.

D) Mo, because it implies that the interior designer
of the salon had political motivations.

A) NO CHANGE
B} legs, the couch and chairs

C) legsand
D) legs,

Which choice gives a second supporting example
that is most similar to the example already in the
sentence?

A) NOCHANGE

B) atea cup is about a quarter of an inch.
) there are even tiny cushions on some.
D) household items are also on this scale.

Which choice most effectively combines the
sentences at the underlined portion?

A) furnished by their
B) furnished, but their
C} furnished: their

D) furnished, whereas

Which choice most closely matches the stylistic
pattern established earlier in the sentence?

A) NO CHANGE
B) asmall table is under the third wall's window.
() the third wall has a window and small table.

D) the third wall has a small table against it and a
window.
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As I walked through the exhibit, I overheard a

[l visitors” remark, “You know, that grandfather clock

actually runs. Its glass door swings open, and the clock

can be wound up.” JJJ] Dotted with pin-sized knobs,

another visitor noticed my fascination with a tiny writing

desk and its drawers. “All of those litfle drawers pull out.
And you see that hutch? Can you believe it has a secret
compartment?” Given the exquisite craftsmanship and

level of detail I'd already seen, I certainly could.

Question fFJasks about the previous passage as a
whole.

A)
B)
c)
]

—

A
B)

C)

]

—

NO CHANGE
visitors remarking,
visitor remarked,
visitor remark,

NO CHANGE

Another visitor, dotted with pin-sized knobs,
noticed my fascination with a tiny writing desk
and its drawers.

Another visitor dotted with pin-sized knobs
noticed my fascination with a tiny writing desk
and its drawers.

Another visitor noticed my fascination with a
tiny writing desk and its drawers, dotted with
pin-sized knobs.

Think about the previous passage as a whole as you
answer question 22.

To make the passage most logical, paragraph 2
should be placed

Al
B)
C)
D)

where it is now.

after paragraph 3.
after paragraph 4.
after paragraph 5.

Think about the previous passage as a whole as you answer question 22.

HFRUEIEIRERR, FEARIREN:

MEIRIRIT EAF:
. REREBAIEZRINGF
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6.2 Introduction, conclusion, transitions
- EEEE:
- BHEER
© IBEREM
« IZRETHR:
© XEEMAE
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s ZABEBEREFERMIBEZRNGILEGERNOER, BE ZEMII 2
EORESZEIN HIRE .
. gt EZEEH{R%, introduction F1 conclusion Z R EH R,

6.2.1 Introduction
© 5|2 REIEE
«  JBMTERIA
« RIOEEEHN
- BEERHE (B) NmaFHes HIEREER
*  SATOG FRfy s RI A

A= === N =z [H
ROBBEE_ POERR

6.2.2 Conclusion

© NXE AR IR
© XZH] S5

« HWABESERMNPOAE
© ERARBAERIXARHEETR AT S
- ERAA:

6.2.3 Transition
o iR ATLAEIS AT EPRIERY SRFIHT;
© B ZEEBBETEERNS;
© BRI HE—DUWREE B ;

- ER: HEEIN %,
« L& BIRESXCER XY R %,
OG Test 1

Nutritionists consider Greek yogurt to be a healthy food: it is an excellent source of calcium and
protein, serves to be a digestive aid, and it contains few calories in its unsweetened low- and non-
fat forms. Greek yogurt is slightly lower in sugar and carbohydrates than conventional yogurt is.
[9] Also, because it is more concentrated, Greek yogurt contains slightly more protein per
serving, thereby helping people stay satiated for longer periods of time. These health benefits

have prompted Greek yogurt’s recent surge in popularity.
9.

A) Also,

B) In other words,

C) Therefore,

D) For instance,

OG Test 1

The Consolations of Philosophy

Long viewed by many as the stereotypical useless major, philosophy is now being seen by many
students and prospective employers as in fact a very useful and practical major, offering students a
host of transferable skills with relevance to the modern workplace. [34] In broad terms
philosophy is the study of meaning and the values underlying thought and behavior. But more
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pragmatically, the discipline encourages students to analyze complex material, question
conventional beliefs, and express thoughts in a concise manner.

34.

A) In broad terms,

B) For example,

C) In contrast,

D) Nevertheless,

OG Test 1

The Consolations of Philosophy

Because philosophy teaching students not what to think but how to think, the age-old discipline
offers consistently useful tools for academic and professional achievement. [37] A 1994 survey
concluded that only 18 percent of American colleges required at least one philosophy course.
Therefore, between 1992 and 1996, more than 400 independent philosophy departments were
eliminated from institutions.

37. Which choice most effectively sets up the information that follows?

A) Consequently, philosophy students have been receiving an increasing number of job offers.

B) Therefore, because of the evidence, colleges increased their offerings in philosophy.

C) Notwithstanding the attractiveness of this course of study, students have resisted majoring in
philosophy.

D) However, despite its many utilitarian benefits, colleges have not always supported the study of
philosophy.

OG Test 2

Tiny Exhibit, Big Impact

The first time | visited the Art Institute of Chicago, | expected to be impressed by its famous large
paintings. _[12] On one hand, T couldn’t wait to view 13 painter, Georges Seurat’s, 10-foot-wide
A Sunday Afternoon on the Island of La Grande Jatte in its full size. It took me by surprise, then,
when my favorite exhibit at the museum was one of 14 it’s tiniest; the Thorne Miniature Rooms.
12.

A) NO CHANGE

B) For instance,

C) However,

D) Similarly,
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$BL#B4> Effective Language Use

7.1 Precision

7.2 Concision

7.3 Style and tone
7.4 Syntax

7.1 Precision

7.2 Concision
1) Cutting unnecessary repetition

2) Focusing on the subject and verb
3) Verbs
»  Verbs > Nouns (houns made from verbs)

Weak Verbs

«  Active voice > Passive voice

4) Omitting empty words and phrases
Empty words and phrases:

all things considered

as far as I’m concerned

for all intents and purposes

for the most part

in a manner of speaking

in my opinion

last but not least

more or less

0% % 3k % ok X% 3k

5) Singles words > phrases > clauses > simple clauses

7.3 Style and tone
» Style:
* Tone:

*  Point of view:

Students need to:
» choose appropriate words
» choose appropriate sentence structure
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One of the most unique examples in this category is the Culinary Institute of America, founded in
1946 to offer a novel curriculum for learning cooking stuff.

A) NO CHANGE

B) a new bunch of courses in the culinary arts.

C) an unprecedented curriculum in the culinary arts.

D) a never-been-done-before batch of classes on cooking.

To sustain faculty through scholarly debates, Jefferson included dining halls in his design, referring
tothemas “hotels.”

A) NO CHANGE

B) keep them fueled up while they were talking heatedly

C) fill them up so they could chat a bit about scholarly issues

D) make sure they could keep up school discussions

While worrisome, the decline of traditional print media could not entail the end of investigative
journalism.

Question: Which choice most effectively suggests that the “end of investigative journalism” is a
real possibility but one that can be prevented?

A) NO CHANGE

B) need

C) will

D) must

7.4 Syntax
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